EARAROBEEIERT — 2 N— IBISH —F

20185 7H31H (K) 9EI£IR4E

mﬂﬁ%—ﬂﬁ B25 (w8 | imEmml - |5 5) som 8
[AE4£] 1% :290,000” ~ 237%&:66,000”  33%&:34,000H  437&:26,000MH .~ 57&:17,000 H
& %B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
N NN MR .38 1-1- . — WA= (£R)
1 4 TJI—t73> ' 56.0 1(3_8)4 L ! :1:123) HilEth
L:a-T> Uy B:STU-FLI7 A AKX
. HEZ :39. —0-3- . — JIZRBARA (£3R)
ol1]1|T7ErE—L H o4 e 1(33?)0 2-2-3-3 |38.8 5 ;1;341) Al
R:Nd B:nrThra— b i cie ]
. SEEER 29, 55 4| - ez (&R
317|7 TIhTh "5 §55_0 1(31%2 R R s (4:351) Eap N
LT RIAYL—> BOSYILET A—L— T4 - Ty —LARES
R hESE . —0-0— = JIIRBABL (£R)
4 g|>a>T7VUx "6 (11'319/25) zezz | B5 ? ;‘f;) EEBF
AL TryA47 B:O-XFHNT ME E
> hBEEH :39. 44~ . — EiEtkRe (£R)
. | aT— > 4 i 1(739@5 4-4-4-4 | 39.1 1 zzg;% il o
LT TRy b BV A4 2R BIN77— L4
s £ 6 | FREBAM 1:54.2 6-66-6 |51.5| — 6 508 | #ARK (£R)
6l TT¥>7FR B (21%) Gay | B Fr-XbEva>
R:id—IWRPY2— B:I—-2>T7594%0L FERS
N D MR — - — — — — | =REF (2R
xx| 5|5 71//\_77"—_1 6 5?3):0l (R4 ) J._§§_
RixAvavavyy B:O—-FKx—L4 BT —L
® I —F—EBIERL
13=7r= 4,(1,6),2,7,3
2a|=7r= 4,(1,6),2,7,3
Jol=5r= 4,6,1,2,7,3
40—+ — 4,6,1,(2,7),3
[ N3
BB 4 750H 714K 1-4 540M B = 1-4 2,030 3EHE 1-4-7 3,220
8 B 4 280M 4-7 330M B H 4-1 5,050M K31 4-1-7 17,660
1 480M 1-7 590M

ABICOVWTRDTEEERROODE. TR LIV,




